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F.BF.B.6: Sigma Notation 2

1 Simplify: i(x—az )

a=1

5
2 The expression 4 + Z 3(k —x) is equal to
k=2
1) 58—4x
2) 46—4x
3) 58-12x
4) 46-12x

2
3 What is the value of z (3-2a)"?

x=0
1) 4a*-2a+12
2) 4a’-2a+13
3) 4a’-14a+12
4) 4a’—14a+13

4
4 Which expression is equivalent to z (a—n)*?

n=1
1) 24°+17
2) 4a”>+30
3) 2a*—10a+17
4) 4a’—20a+30

Name:

5 If ,C, represents the number of combinations of n

items taken 7 at a time, what is the value of z ,C,?

1) 24
2) 14
3) 6
4) 4

3
6 What is the value ofz ,C.?

r=0
1) 8
2) 9
3) 3
4) 4

4
7 The value of Z sC, is
r=2
1) 5
2) 10
3) 25
4) 45

(_l)k—l

2
8 Evaluate: Z 2k -1

k=1

3

r=1
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8
9 The value of Z i, where i is the imaginary unit, is

10

11

12

) 1
2) -1
3)
4y i

3
What is the value of 2 (2 — (b)i)?
b=0
1) 2-5i
) 2-6i
3) 8-5i
4 8—6i

If i = A/ =1, what is the value of the expression

20

z l-4n?

n=1

3

What is the value of z cos %?
n=1

1 1

2) -1

3) 0

1
4) -

13

14

15

16

Name:

6
The summation 22 cos( . 7_[ 2 ] equals

n=3
N

2
2) 2442
. 1442

2
4) —1+«/E

2
Find the value ofz [sinkTH]
k=1

3
Evaluate: Z [ sin % ]

n=1

3
Evaluate: Z (Bcoskz+1)

k=0



F.BF.B.6: Sigma Notation 2
Answer Section

1 ANS:
x—1+x—-4+x-9+x-16=4x-30

REF: 081535a2
2 ANS: 4
4+32-x)+33-x)+3(4-x)+3(5-x)

44+6-3x+9-3x+12-3x+15-3x
46 — 12x

REF: 061315a2
3 ANS: 4
(3-2a)+(3-2a)' +(3-2a)° =1+3-2a+9-12a+4a’ =4a’ — 14a + 13

REF: 061526a2
4 ANS: 4

(a—1)2+(a—2)2+(a—3)2+(a—4)2
(@*>=2a+1)+(a’ —da+4)+(@" —6a+9)+(a’ —8a+16)
4a’® —20a + 30

REF: 011414a2

5 ANS: 2
r 4(:7 412
7l
B 4
oo | 2 -
1] 40 T 1 4
P | 4x3
i 472
2 | 4x3x%2
Cf 43
SRR 3 | 3x2x1 4
z 14

REF: 080213b



6 ANS: 1
r 3Cr 3Pr
r!
P 1
370 =
O o | 0
P 3
371 =
9]
P 3x2
352
21:% 5| &
P 3x2
373
3 3C3 T 3)(2
> 8
REF: 061007b
7 ANS: 3
r 5C:r SP?
7l
=) 5x 4
| 552
21 505 o %1 10
E 5x4x3
C 543
3| 505 3 X %1 10
P SX4X3IX2
i 5% 4
4| st A | ax3xaxt |
) 25
REF: 010505b
8 ANS:
k (_1)&—]
2k - 1l
ere J1
M-l |1
cp* -1t
2 — —
ey-nl | 3| 6
s 5
6

REF: 060624b
9 ANS: 1
PP+ i = i1+t =1

REF: 081612a2

ID:



10

11

12

13

14

15

ANS: 4

b| 2-(&i
0] 2-(0
1| 2-(1)
2| 2-(2x%
31 2-(3%
| 8-(6%
REF: 010304b
ANS:
20
20. Since i =1, >'i*" =20,
=1
REF: 010825b
ANS: 2
cos£+cos7z+cos3—7[=0+—1+0=—1
2 2
REF: 011617a2
ANS: 4
T 4 T T 1
2| cos 35 +COS4_2 + cos ) +cos 6—2] —2[—1+0+ 2 +
REF: 061605a2
ANS:
1
REF: 068111siii
ANS:
n . R
st —
2
1 s
s1n —
2
21 . 2w
st —
2
3 3T
s —
2
)

REF: 010922b

ID:



16 ANS:

REF: 060523b

3coskm +1
3cos0+1 | 3+1 ] 4
3cosw+1 |-3+1 ]| -
2
3cos2z+1| 3+1]| 4
3cos3z+1|-3+1]| -
2
4

ID:



